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No BT #EA AElniEsE i L-134 t 137 &HE

Bg. kg Bg. kg Ba kg
1 WhEth R6.6.17 o = BRHE9(<4.2) BRHE9(<3.3) BRHET
2 WhEM R6.6.14 YN A5y (FEE% BREET(<47) BRHEET(<43) BREEY
3 WhETh R6.6.17 AIRFE BRHE9(<3.2) BRHEY(<3.9) BRHET
4 SERTHE R6.6.18 Joyal— BRHEE9(<6.2) BRHEE9(<5.3) BREEY
5 HEET R6.6.17 BIRE BRHET(<54) BRHEY(<54) BRHET
6 HEET R6.6.17 bk (FEE% BRHEE9(<35) BRHEET(<L25) BREEY
7 ==y R6.6.17 Fayly BRHEY(<3.6) BRHEY(<3.6) BRHET
8 SR B R6.6.18 SR (FEES BREET(<27) BRHEET(<1.9) BREEY
9 [LEFET R6.6.17 Via e 2V BRHE9(<6.7) BRHEY(L3.7) BRHET
10 = EHHT R6.6.17 YYAUFY BREET(<4.1) BHEE9(<35) BREEY
11 [REFET R6.6.17 HRFv BRHET(<34) BRHEY(<3.2) BRHET
12 [LEFET R6.6.17 FR BRHEE9(<8.3) BRHEE9(<6.9) BmEEd
13 AT R6.6.17 Farl) BRHEET(<34) B HE9(<4.0) BREEY
14 M ZEET R6.6.17 FR BRHEET(<4.1) BRHEE9(<3.9) BmEEd
15 = [EET R6.6.17 s O iV BMHEHE97(<3.3) BmHEHE9(<28) BREEY
16 ZARWT R6.6.18 AEE BHEE9(<32) BRHEE9(<32) BmEEd
17 SEEEE R6.6.18 EE BRHEET(<6.4) BRHEE9(<6.6) BEed

BREEEIZBTP—BRESOEE[E 2L :100Ba/kg(t ™ L-134, £ L-13TOEEIE)




